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= 8,617,725
N 99,000
< 2,894,866
£ 259,445
EXHY L85 2 11,793,816 11,052,669 741,147
= 8,617,725
EN 99,000
< 2,817,646
£ 259,445
EXNFHAMY XA 1,153,403 1,142,932 10,471
= 1,078,338
< 75,065
EXNFHAY 4 35,315 35,458 A 143
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01 At 2teltl 12,750 12,750 0
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02 =224l 20,000 20,000 0
OEE &Z2=E AAH S 22 20,000, 000 20,000
203 YR =2l 2,565 2,708 A 143
03 A BFAH S =AY 2,565 2,708 A 143
OEXZel gR=2 2,565,000 2,565
ST M el AIAE 2t 5,200 5,200 0
201 Let24d] 5,200 5,200 0
02 =24l 5,200 5,200 0
ORSAATH 2elAlAg 2e| 5,200,000 5,200
HEEXNSAIXIL 22/AlAEH 2t 16,200 16,200 0
201 ¢er24] 16,200 16,200 0
02 =224l 16,200 16,200 0
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201 LBt 5,000 5,000 0
02 =224l 5,000 5,000 0
ORS&SMHE A 2elAIAE 22 5,000,000 5,000
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201 et 6,000 6,000 0
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OME S AKX Ib ZALKIE AL 6,000,000 6,000
= 3,000
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308 AXISHXSOoIH 1,072,338 1,069,074 3,264
= 1,072,338
01 AXHNBMNEXTZ 1,072,338 1,069,074 3,264
OMEZBAXIE ZALKE ALY 1,072,338,000 1,072,338
= 1,072,338
SOSMAF A= F U 7,350 0 7,350
201 et A | 7,350 0 7,350
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= 94,700
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NE=2HZAUE 29 11,050 12,750 A 1,700
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SUHEBALAE S A2 160,000 160,000 0
201 Let2d] 160,000 160,000 0
02 2324l 160,000 160,000 0
OZAZEANAH S& |A 22l 160,000,000 160,000
AMAZE EASE MEH 375,635 446,985 AT1,350
< 116,190
£ 259,445
401 Al HI K 2018 375,635 446,985 AT71,350
< 116,190
£ 259,445
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OAAHE BAG & M= 370,635,000 370,635
< 111,190
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03 Al S THHI 5,000 5,000 0
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5,000,000 5,000
22a XN s A FHI 491,254 297,500 193,754
207 A RO 491,254 297,500 193,754
01 289 491,254 297,500 193,754
Ogesa XY S XA EHl 491,254,000 491,254
SUFE SEEAS ESHAH 7= 509,860 725,250 A 215,390
201 Let2d] 9,860 12,750 A 2,890
01 At 22l 9,860 12,750 A 2,890
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9,860,000 9,860
207 RO ] 500,000 712,500 A 212,500
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NEZ T22 XotAIEE2 & atst 300,000 0 300,000
403 XX SHHS K2 0| & 300,000 0 300,000
01 AIXISHMA=2E X 300,000 0 300,000
OXGIAIZEZE &AE AFY 300,000,000 300,000
CEYHEFA J|BR=E 321,694 333,421 A11,727
A 99,000
o 222,694
C2HFA CHHAAE LHEA & HH| 82,175 68,000 14,175
308 MXISHHMSOIA 82,175 68,000 14,175
01 IXHHIMNEEXTZ 82,175 68,000 14,175
OEZ2HZFA CHUWAIAE LA & HH|
82,175,000 82,175
29 2T Y& AR 47,500 85,000 A 37,500
403 XX SRS K20l & 47,500 85,000 A 37,500
01 MXHHE2BE =X 47,500 85,000 A 37,500
OoZg=go Y& AR 47,500,000 47,500
2R EHSE M= AX 99,000 99,000 0
A 99,000
308 AMXISHMSOIA 99,000 99,000 0
A 99,000
01 AIXSHMEMNEXZ 99,000 99,000 0
O2IIN&EHSs T HZ& AX 99,000,000 99,000
N 99,000
Z2IFAAEANAE RANEL 2 2Y 18,616 17,724 892
308 XHXIEHSOIA 18,616 17,724 892
112 2SUHUSHEAEAE A Y| 18,616 17,724 892
OZINFAEEANAEY SIS & 299
18,616,000 18,616
CE2HFEA IS S AFY 74,403 53,497 20,906
308 AHXIEHSOIA 74,403 53,497 20,906
11 BI2SUHUEHEAEAE AT Y| 74,403 53,497 20,906
OEZHFEA D2k 8dst AIY 74,403,000 74,403
ESNMEE DR H 665,874 231,000 434 874
2 EXNHE 23 CANE EESAY 665,874 231,000 434 874
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CIXE XN&ER=S 6,844,437 6,803,861 40,576
= 6,831,687
= 12,750

NETEALALE =& 6,831,687 6,706,111 125,576
= 6,831,687

201 et d| 10,000 0 10,000
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SN E2E=2 24352 /8 U 31,875 11,900 19,975
201 et | 31,875 11,900 19,975
01 AP 2t 2] H| 31,875 11,900 19,975

OEHd E228s 438 /s s
31,875,000 31,875

CE sZda 8 2238 e A 7,650 7,650 0
202 044l 7,650 7,650 0
01 2Ll 7,650 7,650 0

OCE 834 T8 B8 98 #ZH
7,650,000 7,650

CEE2HA AAIZE SHAAMAE A2 10,584 10,584 0]
201 LBt Y| 10,584 10,584 0
02 Z2=2=24%4| 10,584 10,584 0
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10,584,000 10,584
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405 XHoHF S HI 23,750 0 23,750
01 AL ESFH S 23,750 0 23,750
OB YMYL A CEALY
23,750,000 23,750
s3gk B2 3%y 228 28,000 0 28,000
201 Let249] 18,000 0 18,000
03 &AL S HI 18,000 0 18,000
O=dEE E2 &32d4 22 18,000,000 18,000
301 LPEXZ 10,000 0 10,000
12 JIEtE4 3 10,000 0 10,000
Os8dg: E2 &334 228 10,000,000 10,000
EE g8 UXNE Hd N 7= 11,050 0 11,050
201 -4 8,500 0 8,500
01 At 22l 8,500 0 8,500
OtEE g8 UXNE AEXE = 8,500,000 8,500
202 O4dl 2,550 0 2,550
01 = LHA YI 2,550 0 2,550
OEE &8 UXE8 A8XE 7= 2,550,000 2,550
EE Z2EE 28 otd &3 ZBLIHE AY 90,000 0 90,000
403 UHXSHHSA=0l& 90,000 0 90,000
01 XM A2E X 90,000 0 90,000
OEE 2232 22 ot &2 ZLIHE AtY
(ZQ&Ao) 90,000, 000 90,000
HE2HAZH (EX 22| 0t) 77,220 77,430 A 210
Jl2ZHl(EXl&ela) 77,220 77,430 A210
Jl2dBl(EXI&e 1) 77,220 77,430 A210
201 Let24d] 36,720 36,720 0
01 At 22l 36,720 36,720 0
OEXZe Z2Fa 36,720,000 36,720
202 O4dl 36,720 36,720 0
01 = LHA YI 36,720 36,720 0
OERX el g2=2 36,720,000 36,720
203 YR =2t 3,780 3,990 A 210
04 FN2IELSFAH 3,780 3,990 A 210
O&EX &e| 3,780,000 3,780




